19692:)269%:19692:)%¢
BRI

LN

(g wreaties g when (zan 8 oY), S 2022
S .

<

0111
TR . -1

A : 11:00 9 12:30 HIEYHN w
T T 150 AW WTST & T

TYAUTIRT BISTAUATYET Hual WTeel GaAT G g araT :

(1) = geabrehd g faum omgq. cmieht faumr I o gom wmwr fawemandt 1d 25 9 faum I 9e3 it
foamandt 26 @ 75 3 TRU 75 WA ITRd. T WA HiSfaur savash I8,

(2) A TIATEET 2 T 3T,

(3)  SedteRT Arsfavamardt TR 90 fafiern sramat foem .

(4) I AiGlIvATETd! Tada ITRAfIehT fieielt 318, Tedeh TThHTRIEHR IR GIETdl ShurTd daded foetelt 3mmad.
AT 3T[eh I AT hHTh T Iqes eIdt IS SrafeeTsamT Tra.
3gT. T 3. 6 AT ST IATT T 3. 2 ITA, X 1 YEIATHIO Figara.
w6 D@D

(5) Wreferym Aigfaciel ST IR 9XvaTd AUR AR, 378 I ATGHead & Y™ S 97 foel Sdid.

DDO®

(6) TR HATA 20% ST ST el = qATTIeh! S T 3Tk STdId. o qal g Aigfaor
SRR A3, ATEE! T T I A g 3T uata et onft g fooed om.

(7)  TF g vata faer onfl gE oo TeTeataiE $at Yo TeTEIE! Thiue Hfee aqard digeciel
3 J WSS Hhed Agfaciel] Scal TTel eRuITd JUIE ATEId.

(8) ekl igfacielt 3T YraT sieedT VR ATEH.

(9) vl 3 Ficfaar e wrea fhar e T afad=r arR Fdr. U e gt e ume
TROAT AU ATEH.

(10) YTURehd Jceh UMTR WTeil <A1 YHTEL Shed hiH HITATHIS! Hished! ST 31T, A hedl hTH hild.

(11) wlem wifed de TEea TETe oA Ick JreTell Id T8 Jeid Yo digal. Jadl 9e8 freet
TfgeaTs ITeiedn TeHTETd! a1 T s

(12) W@t YeTd I /T B AT qHagih fohal T hgdaTeish AreTehs R e 3.

(13) AT 3t /<o / snaramaraas e wmesd fohan arererit mefiraromferpr fohan fraronfersrdt aieamene orEht
TEITT | USadl Helerd MeSea At Hed AR Tgai-a graard.

(14) FE/<h/ nEameeras o TiamsT dgdiy urefavarh ged wden aRwe=an dehaeeresiet siafE (qreged)
SeqE gtag eI 10 (gaT) feaamia Tdia.

(15) Heurer fohar 311 SRS TvH Fehel STECATE eI a3 AT SHITETTHR A1 ot ShrRiaTe! shefl e,

(16) Hez wrezmTETad Ul WA Jufent feoiell 1R, qes AreamTdiel Gferer geiemed Sust U9 T,
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T9T 01 o 03 |1t guAT -

Glelidl 3A/ hidsiqdeh aral g e MgMa @t foaieesn St 3w
ERIRIGEERECEIIE

Tfeh HE 7 WM AYHVERE  Hd. UUHRiAl 1 W@Hd
HEae SARHTd $E 38, d9¢d Hetd el HIETHT, FEidl Hednd,
fogforgqd AYH JHT BId &l AT IO FTHAGIAT ST AT ARG
freom=n gEmel S dnd. el Yo hdidl HEHRIERE] JeAE 39
e wifest, d@ quRg wifeen WS, TS Sl SHTSIERIEIE! WEE
e i SAREl TN gE@dd! STEwdehdl 3@, A heddd M@ diggl Al
HUEehIETE 39 SUEerel] TS, I -IRheRIed WGl drec! digel. €99
UHCEd HEhRQd ATV SR hAg Iehdl ITEl SUR ANAT HleH  fea
3.

01. 3Icdq YHTSTSITEAIS! <hiIcAT TSI STEIehdl  ATal ?
(1) SRt (2) STeEmE
(3) HERE (4) IqaTETE

02. 3ACIA JUHHIR S a9 v ?
(1) Tofamsht gachar HRl WA Weced  3THd.
(2) Il TUISCHIEYT Thild Il IR,
(3) TEHRUET THd AUH HE HEGAT Ad.
(4) UESHE FEF 3 HYHIE Ul SHIUITERE  2TTE.

HeedT HIHTHTS! Word
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03. YEIUeh! hHIVMAT G IATA [oRINU FEU SATAT TRl 7

(1) T&ha (2) @mHfEw
3) uIH (4) &l

9T 04 d 06 TS TEAT -
Gl Higal HSsigas Il 9 R AERG rare]  foeamieedn g

I IW T HEe
e el g Th e
T& Al o fasme

afor == foergfen 9
Sfiot Ut ug A 39

30 Y fIda e
fen wBrEt gegfan s
W TR sfgen e
T dr g drgdl fe=m!

qEIE! gHAd @ g
T HIW d TEdal "M,
qEHe 91 qedid I d

T e feg e wma!l

afur Il fed wh @ e
J3 YlEd = &Y amd
feo umier, ol 9E

9% Fegh @ g w3l

M SN B Tk doaTef
98l TSVl SXqd qURTef!

HeedT HIHTHTS! Word
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04. TS IUHHEER @ BN FA IR 7
(1) B e (2) TSd USHed UHE
(3) GETeET el (4) 2GS B

05. hfaddidd 9 I Il fodidl foRNur Il g Sl 3T,
(1) &gsa (2) St et
(3) Tihe qB (4) foome o®

06. URNGIET 3UGE hIV hid 37
(1) ZeEdd 9« a9 TTad 2) @ a f&
(3) I 9 "B (4) 3w g fawr

07. USIAdehl TS AATT Ieg IS

(1) 318 (2) 3ITTEB

(3) gaEm (4) sl
08. ‘T AT vegrEn Ay fowgeneff weg ehroran?

(1) 3@ (2) HY

3) @ 4) @d

09. YIAUH T3ey veg ferdt emRa?
‘Ageh, AN, od, AldaTss, dedihd, TR, A, 39, SUEH
(1) 9= (2) =R (3) @& (4) d=

HeedT HIHTHTS! Word
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10.

11.

12.

13.

14.

TaTdd | MR el w1 TS gl =l i B, (I ST
ATRRGd  Iegrea AYTE I AR 6 (oSl )

(1) AT (2) afdd=Eu

(3) dRAGEH HE (4) IJ&I"

IgA B0 A IEuEIEn A guEel areu=r shivrar ?
(1) wed 2o (2) IYHR T
(3) yutEE B (4) TR O

YUl IV QAT Feoien 31 AR AR 7

(o Ica aF W fHaeEl)

() ¢ 99 off 3™ - TGl && aSl Jgd .

(2) S ME=AT a9 e TEeA a9 - ASEAl HIUEET UhHeET an
A& 37T,

(3) AeEn Ir e 9 4@l - Fledl A HiH-gRe AT,

(4) AU B SAA - WAFA TEE YIS AW ArEd El.

EIUehl  HIUCT TR Yegd ATENET IER S ITATEH AT
fafear «me?

(1) & - T=& (2) T¥d - =

(3) WIEU - HIUgY (4) T - @

~

YEAtshl v W SieveeE! @efihle A AT ?
(1) STCIUER - 39 + 3UER (2) IS - 3 + I
(3) ¥=F - §q + =F (4) TH - G + M

HeedT HIHTHTS! Word
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15. YAl Ag=dias IRl TS WS aed HasT.
(7 an W faen)
(1) # T 9ol 9eiel; REm 9w ek,
(2) & T SRR Sar; hl JAEre! Hiosel 6 feEEE.
(3) T ANAIE G Foholl; oS IMedd AT IR ST,
(4) T Td oeq feew AEA; UG R g FAEAE H.

16. TS WNG 3 TaA™ feRdl sTmRa?
(1) > (2) U=
(3) @& (4) s

17. YEIaUehl SaqecaEr faemd Sl e
(1) wreefi-amest ) fea-fe=n
(3) Ag-ATE (4) faefi-faean

18. ¢ Tooiown ametdidl SIURf@d sholedl @M SO I6qMN Hb 6 <hivIdl ?
A TEaTeea feRd gerTETell S Afel.
(1 wm ) i
(3) dfesn (4) dfe=m

19. YEicdehl HUUA AN STEUIR SR I ?
(37 an W fEe)
(1) M TUEhEE §-Jedeh  aredl.
(2) T SATeAT UEHETS FRET Hiedl.
(3) e Tl daq e,

(4) SEHATAA TAh TUAA A HE ATl

HeedT HIHTHTS! Word

0111-Marathi Set-A 6 of 32 Contd...



20.

21.

22.

23.

24,

25.

f gogma @ fowmf e gl A arRmen A 9 aeadt WHivd STehUEd!
I IR BISA ?

(1) M gegma wn feemft @ AmE.

(2) W gggme @ fewmft T A

(3) M weew o fSwmf e

(4) ™ wgew o fewmft e Tegal.

e ASidia fshamagren 1) 3fiesa.
& S 39 aH,
AqNY g TYE g U™l

(1) wd (2) mad (3) Hehard (4) faead
YeIciush! agsiial HHTET 3G hivTd ?

(1) Taave (2) TER (3) Tfigew (4) TUPR
Jeiadehl U STARNIA  <hIUIT ETATIh 6¢ IV TR ?

(1) @ (2) ST 3) # 4) T
T AT HETHTHT HI0d HEThred  feifgal ?

(1) gmftan (2) THARAEEE

(3) THdH (4) @S

qifgfces 9 I 2UUETd AFER BV SAST Fehle! MR 7
(1) Tooms - TrEer ama e

(2) feame - vt wifvETy T

(3) Aipfgdardl - MU & e

(4) 9 - WU IR TMEER

HeedT HIHTHTS! Word
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26.

27.

28.

29.

SECTION - II
MATHEMATICS

The ratio of supplementary angle and complementary angle of a given angle is
8:3. Then what will be the ratio of given angle with its supplementary angle?
(1) 4:1 2) 13
3) 14 4) 1:2

What is the cost of fencing a circular garden of radius 28 m with five rounds
of wire, if the wire costs Rs. 50 per m?

(1) Rs. 45,000 (2) Rs. 46,000

(3) Rs. 44,000 (4) Rs. 50,000

21\3
<_32;> = ? (Choose two correct options)

88 —2x°
(1) 27 (2) 3y

_8y® —8x%y?
3 — 2757 4 57—

The average of 10 numbers is 20. Out of which the average of first 6 numbers
is 15. The average of last 3 numbers is 16 then what will be the seventh

number?
(1 72 2) 62
3) 52 4) 60

SPACE FOR ROUGH WORK
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26.

27.

28.

29.

fawm - 11
wfora

UHI ST QA d hIcehH IT=AT HOE UK 8:3 3@ @ N AN
AT R TR Teiel TR feohdft 7

(1) 41 @) 13

3) 14 4 1:2

U IgedhR arrEl Brsan 28 Hiet oM. oI SmEHiEd! 5 Ugll U HTcuaEat
gfcHter S0 TSl fordt @< A5

(1) T 45,000 2) T 46,000

3) T 44,000 4 T 50,000

(F2%) = fft (@ o i )

3y
88 —2x°
(1) 7y @ 53
_8y® —8x%y?
() o @ 57

10 gt guEd 20 TR, ekl ufgedn 6 TeEEl wEdl 15 IR, aded
T Tl TEl 16 AR W Eadl &A1 Il ?

(1 72 2) 62

(3) 52 4) 60

HeedT HIHTHTS! Word
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30. What is the sum of additive inverse of (5a — 3b) and additive inverse of

(—6a + 2b)
() a+b 2) a-0»
(3) —a+b 4) —a-b

31. Which of the following statement is wrong?
(A) If a number is divisible by 2 and 5 then it is also divisible by 10.
(B) The numbers divisible by 6 are also divisible by 2 and 3.
(C) The numbers divisible by 7 are odd.
(D) 1, 2, 3, 6 are common factors of all the numbers divisible by 6.

(1 A (2) B
3) C 4 D

32.  Which of the following statement is not true? (Choose two correct options)
(A) The opposite angles of a parallelogram are congruent.
(B) The adjacent sides of a parallelogram are congruent.
(C) The diagonals of a parallelogram are congruent.
(D) The diagonals of a parallelogram bisect each other.

(1) statement A (2) statement B
(3) statement C (4) statement D

33. The length of a cuboidal tank is one and half time its breadth and height is
twice the length. If volume of the tank is 4500 cubic metre then what is the
height of tank? (Choose two correct options)

(1) 10 m. (2) 3000 cm
(3) 30 m. (4) 1000 cm

SPACE FOR ROUGH WORK
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30.

31.

32.

33.

(5a — 3b) =t S =@ WA T (—6a + 2b) A IO A TEAT I GO
fercf ?

(1) a+b 2 a-b»b

(3) —a+b 4 -a-b

Treflal Ul R faum i ?

@) 29 53 3w 9 9@ @ w10 3 FIw wm S

@ 6 9 M3 9 Somr=n wSE 2 3 9 3 9 MR 9m S

(F) 7 F 9T SO Td wE fowm o,

@ 6 7 3w wm Jum=n ' w1, 2, 3, 6 8 UMES  [aud
31T,

() = 2) = 3 = 4 =

gea I o fagm #od? (GF e W fHaEen)
(37) THIMYS RN THE HH ThHtd ITEAM.

(¥) TUTRYS ThATeAT A ol Uhed  3TEdw.

(=h) HHid{gcl ShFTE HU THET  FEAT.

(3) THIRYS <hHAT U TELHE] GHETAM.

(1) faum (1) (2) foum (a)
(3) faum (%) @) fum (3)

T SOl SRR Ehi= ATl wal=al Gleue 39 A= 3l dref=a
U IMR. TR TR TR 4500 u.Hl. IEedE  erehret I foRdi?
(GF 3% T fiaer)

(1) 10 . (2) 3000 @t

(3) 30 H. (4) 1000 @

HeedT HIHTHTS! Word
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34. If the diameter of a wheel of a tractor is 1.4 m. then how much distance is
covered by the wheel in 400 complete rotation.
(1) 1.66 km (2) 1.56 km
(3) 1.76 km (4) 1.86 km

35. In the adjoining fig. line / || line m || line » and line x and line y are their
transversals. If AB = 18 cm, BC = 30 cm, QR = 21 c¢cm then PR = ?

N
B/ \Q

m
C R

\ n

(1) 84 cm (2) 14.7 cm

(3) 12.6 cm (4) 33.6 cm

36. If a number is divided by 18 then the remainder is 1, if it is divided by 24
then the remainder is 7 and if it is divided by 36 then the remainder is 19.
What is the smallest such type of number?
(1) 91 2) 71
3) 79 (4) 55

37.  Which polynomial should be substracted from the polynomial 7x% — 2x + 4 to
get the polynomial 10x2 + 5?

(1) 3x2 +2x + 1 (2) 3x% - 2x -1
(3) 3x% - 2x + 1 (4) -3x2 + 2x — 1

SPACE FOR ROUGH WORK
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34.

3s.

36.

37.

Tl TFTSAT ARl S 1.4 WL TR, A A 400 B QU el R M
HIAA A Tt ?

(1) 1.66 Tt (2) 1.56 Tt

(3) 1.76 Tt (4) 1.86 Tt

qiadea hdid, W [ || W m || W p M W x T Wy AT B
ARA. S AB = 18 3ff, BC = 30 @, QR = 21 ¥l @ PR = fedi?

NN
B/ \Q

m
C R
;N
(1) 8.4 @t (2) 14.7 @
(3) 12.6 @t (4) 33.6 @i

ST T 18 4 9P @ SRl 1 3, 24 F 9N @ aehl 7 3 9 36
T U @ AR 19 3 o TEEId @M GEA v ?

(1) 91 @) 71

(3) 79 4) 55

Tx? — 2x + 4 A EUGK B SFIGT G hefl @A 10x2 + 5 B qgUE
e ?

(1) 3x%+2x + 1 2) 3xr-2x -1

(3) 3x2 —2x + 1 (4) 3x% + 2x — 1

HeedT HIHTHTS! Word
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38, V1.96—/2.25+/2.89

/0.000256 -
(1) 102 2) 103
(3) 1072 4) 1073

39. Pradnya has exactly same number of Rs. 2 coins and Rs. 5 coins. She has a
total amount of Rs. 196 then how many coins of Rs. 5 she has?
(1) 28 (2) 56
3) 35 4) 14

40. Two angles of measure 40° and 140° with different vertex are drawn then which
of the following statement is true?
(1) The given angles are supplementary angles.
(2) The given angles are linear pair of angles.
(3) The given angles are vertically opposite angles.
(4) The given angles are adjacent angles.

41.  The co-ordinate of point P on a number line is _7—3 The distance between
point P and point Q is 2 units then what will be the co-ordinate of point Q?
(Choose two correct options)

m 5 @
3 = @ =

SPACE FOR ROUGH WORK
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38.

39.

40.

41.

J/1.96 — /2.25 +,/2.89

/0.000256 = Tt
(1) 10° 2) 10
(3) 102 4) 1073

THTRE WGl 2 TN AN HEd decE 5 ¥OETEl AWl 3ATEd.  fdearhs
TRU 196 FA 3Med. X fo=Am™he EUTAT 5 wGATeAl ATATl HeAr fohdi?
(1) 28 (2) 56
3) 35 4) 14

40° 9 140° AT UhE RRIfG AEAT HH HlEd W Yeladshl U fou
g AR ?

(1) @ HE TH DA ATed.

(2) 9 HH WHE S HHE 3TRd.

(3) d foeg ®F 3Tza.

(4) q HE Horw IR

WP%@%@%WWPHQm%@Wﬁmzm
A @ Q foagen frewes fordl s@@? (9 g wal@ fiael.)

m 5 @
3 = @ =

HeedT HIHTHTS! Word
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42.

43.

44,

45.

46.

The radius of a circle with centre 'O' is 10 cm. The length of a chord is
16 cm. Find the distance of the chord from the centre of the circle.

(1) 6 cm (2) 5 cm

3) 8 cm (4) 26 cm

A hall has length 30 meter and breadth 9.5 m. For flooring this hall, the square
tiles are to be used of half meter side then how many tiles should be required?
(1) 1240 (2) 1140
(3) 1340 (4) 1150

Ajay scored 25% marks less than Balbir. Then Balbir scored how much
percentage of marks more than Ajay?

(1) 10 () 11

— \D"—‘

(3) 25 4 333

The sides forming right angle of a right angled triangle are 8§ cm and 15 cm
then what is radius of circumcircle of that triangle?
(1) 8.5 cm (2) 9.5 cm
3) 13 cm (4) 17 cm

If the side of an equilateral triangle is 18 cm then what is its area?
(1) 81 sq.cm. (2) 80y/3 sq.cm.
(3) 823 sq.cm. (4) 81y/3 sq.cm.

SPACE FOR ROUGH WORK
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42.

43.

44.

45.

46.

O g IO dgerdl B 10 Tt omg, o adedid 16 &t el
T o hgaTEI= AT fohd! A ?

(1) 6 ot (2) S5 uH

(3) 8 o (4) 26 @

TH WWEEED Al 30 "l 9 ¥ 9.5 Wi HE. N WEIE SRS
gl Wer 99 ECeAT ARETRd] RN SHAE=A] e at oFRn feRdl W
AT ?

(1) 1240 ) 1140

(3) 1340 4) 1150

IS SASRUET 25% U wHl S W aoreiten oTsuen fohdt caRh U
STed THesTed ?

(1) 10 () 11

[— \D"—‘

(3) 25 4 333

T HIChA TRIUNG HICHhA HWOMT a9 § Tt 15 T 3@d @
frepmen gfEget e fRdi?

(1) 8.5 @ () 9.5 @

(3) 13 @ (4) 17 @t

Ty el e w18 @t s, W o P Swes foRdt?
(1) 81 =& ) 8043
(3) 8243 =t (4) 813 =t

HeedT HIHTHTS! Word
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47.

48.

49.

50.

S1.

The rate of tickets of a bus are increased by 20%. After six months, the rate
of tickets again increased by 10% then what is the percentage increase in the
original rate of tickets.

(1) 30% (2) 32%

3) 25% 4) 35%

A merchant purchased 25 dozen oranges at the rate of Rs. 25 per dozen. He
sold all oranges at the rate of Rs. 32 per dozen. Then how much percentage
of profit did he get?

(1) 25 (2) 32

(3) 28 4 7

A rope of length 216 m. is cut at five places at same distance then what is
the length of each piece in cm?

(1) 360 cm (2) 3600 cm
(3) 36 cm (4) 36000 cm

Which of the following term should be added so that the expression 49x2+%

will be a perfect square? (Choose two correct options)

112x 112x
a o
(3) 36w (4 %
6.28x3.14 . (3.14} _

042 T 1256
(1) % (2) 0.6
3) 1.3 @ 5
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47.

48.

49.

50.

S1.

soe fadhle™ @ 20% 4 ded, Hel AfeaHa geal fdafseren @ 10% |
qE Fel W B UA Thdl Idh @ AT ¢

(1) 30% 2) 32%

3) 25% 4) 35%

Tl ANIH 25 F0F B3 9EH 25 83 Wt foehd gaelt ff w9 @l @m
32 T T3 W fasheft @@ wamen feRdt @k w1 FTeAT?

(1) 25 2) 32

(3) 28 4) 7

216 i e gt wHE SFaUeR S fSwmft wuell @ Ui gehedrdt ofe
forct dferfter sm@@?

(1) 360 @ (2) 3600 @

(3) 36 @ (4) 36000 Tt

49x2+iiﬁwwaﬁmmgaaaaﬁwqaﬁm?
(@M o W fEer)

112x 112x
O @ =
(3) —36xy (4) 57x
6.28x3.14 . (3.147 _

o4 Tiase =
(1) % 2) 0.6
3) 1.3 4) %
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8th

52. The number of girls of standard A division in a school at Beed is 5 more

than half the number of boys. If total number of students in that division is

65 then how many girls are there in that division?

(1) 20 2) 30
(3) 25 4) 40

53. Which of the following statement is correct?

(A) The number +% is to the right side of the number %on the number
line.

(B) The number % is to the left of zero.

(C) The numbers —% and % are to the left of zero on the number line.
(D) The number —% is to right of the number % on the number line.
(1) statement A (2) statement B
(3) statement C (4) statement D

54, /5 *x75—-T7x75+35x35
7.5 — 3.5

(1 3 (2) 4
3) 5 4) 2

=9

SPACE FOR ROUGH WORK
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52.

53.

54.

e AfA TH Webdla 3.8 ol T A THEIA Golll TN AT HEIeAl
foqdmem 5 9 oI ofg, W d@enia TR Al §EIl 65 WA @
qefieht e fomdt?

(1) 20 2) 30

(3) 25 (4) 40

Eiedehl T U™ hivrd ?
(a)é@ﬁﬁm+%ﬁéw %mﬁ@ws&aﬁa@ﬁﬁ.

(F) TSRV % B ' YAl SEhe Ad.

(F) FEINTR —% E] % I T YA SEhs AT,
() et - @ wen [y e SdEs W
(1) faem (&) (2) o (@)
(3) faom (%) 4) faam (3)

75 X 7.5 -7 x 75 +35 x 35 _ ooa,
75 — 35 '

(1 3 2 4
3) 3 4) 2

HeedT HIHTHTS! Word
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55. The difference between sum of three consecutive prime numbers before 50 and
after 50 is completely divisible by which of the following?
(A) 2 (B) 3 C) 4 (D) 7
(1) only by A and B
(2) only by C and D
(3) only by A and D
(4) By A, Band D

56. What is the degree of product of polynomials x> — 2x2 — 1 and x — x2 ?

(1) 4 @ s
3) 3 “4) 6
5. Wix(iedx
i x () +/x
) Jx @) 1
3) x @) x>

58. A vehicle covers a distance of 42 km in one hour. Then how much distance
will it cover at the same speed in 20 minutes?
(1) 21 km (2) 840 m.
(3) 14 km (4) 20 km

59.  Which of the following are the factors of polynomial (2x — 5)° — 64 ?
(D) 2(2x — 9) (2x% — 6x + 21) (2) (2x — 5) (4x% — 12x + 21)
(3) (2x — 9) (4x? — 12x + 21) 4) 2x + 9) (4x% + 12x + 21)

SPACE FOR ROUGH WORK
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5S.

56.

57.

58.

59.

50 91 @A oMd=A Al dF o SEdEl Sl 9 Jatedl oRtaedl dH

I TN SN I IRl fehdH R 9ET S ?

() 2 (%) 3

(%) 4 © 7

(1) S5/ & a @ 1 2) %/ & g T A
(3) ®¥d A 9 4) ‘&, 9 e ¥ 9

B2 1 I x - x? AT SEUGeAl UMRNET Hiel TRt ?
(1) 4 2 5
3) 3 4) 6

(P Va +dx s

(V< (Vo +yx
(1) x 2) 1
3) x @) x3

Tsh TSl Uhl qEa 42 fFfi IR Id ® @ ane ft mer 20 faftera
fordt 3T A ?

(1) 21 feeft (2) 840 .

(3) 14 foprft (4) 20 foprft

(2x — 5)° — 64 A WFUG IS YAl I ?
(1) 2(2x — 9) (2x% — 6x + 21) (2) (2x — 5) (4x? — 12x + 21)
(3) (2x — 9) (4x2 — 12x + 21) (4) (2x + 9) (4x2 + 12x + 21)
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60. Santoshrao deposited Rs. 2,10,000 in bank for 5 years at simple interest. After
the end of period, he received Rs. 3,36,000 from the bank. Then what was
the rate of interest?

(1) 11% (2) 10%
3) 12% 4) 14%

61. The ages of 60 children in a class are given in the frequency distribution table
below. From this, find their mean age.

Age (in years) 12 13 14 15
No. of children 13 12 21 14
(1) 15 years (2) 13.6 years
(3) 13 years (4) 14.5 years

62. The curved surface area of a cone is 47.10 sq.cm. If radius of the base is
3 cm then what is its perpendicular height? (n =3.14 cm)
(1) 3 cm (2) 4 cm
(3) 5 cm (4) 157 cm

63. How many coins of thickness 0.2 cm and diameter 4 cm will be formed by
melting a solid metallic cuboid of length 22 cm, breadth 18 cm and height

6 cm?
(1) 935 (2) 954
(3) 594 (4) 945

SPACE FOR ROUGH WORK

0111-Marathi Set-A 24 of 32 Contd...



60.

61.

62.

63.

FAEH Tt sehd 2,10,000 ¥ WSSATEH 5 NS dacl. HeEdieTd M
3,36,000 ®0 fhesid @ =ammn et feoedl gan?
(1) 11% 2) 10%
G3) 12% @) 14%

TH S 60 JATAT AR Aig e ol Welid aRaRdl  gRefid gt
AR e A=A 9aE AU b ?

a9 (cLuf ag) | 12 13 14 15

ga'i%ﬁ & 13 12 21 14
(1) 15 a9 (2) 13.6 =
3) 13 = @) 14.5 a¥

T WhE THISHS 47.10 TEH AR, A der B 3wl ordeu™
o desHl fRdt stEd? (mo= 3.14 =)

(1) 3 ot (2) 4 o

(3) 5 @ (4) 15.7 @t

22 wft @@, 18 W w¢ T 6 Tl I omf aiget WE sfeemtiud fadesed
0.2 Tt WSt 9 4 Tl AWM AT AT IMHR=AT fohel Thedl TR
e ?

(1) 935 (2) 954

(3) 594 (4) 945
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64.

65.

66.

67.

68.

The area of a square is 4.41 sq.cm., then what is its perimeter?
(1) 42 cm (2) 104 cm
(3) 8.8 cm (4) 84 cm

The base radius of a cylindrical tank is 28 cm. It contains water. A metal
cuboid of length 44 cm, breadth 14 cm and height 8 cm is dropped into it.
Then what is the increase in the level of water in tank?

(1) 2 cm (2) 25 cm

(3) 3 cm 4) 1.5 cm

The length of side of a rhombus is 17 cm. If the length of one diagonal is
16 cm then what is the length of other diagonal?

(1) 30 cm (2) 17 cm

3) 8 cm (4) 34 cm

The population of a town was 75000. This population is increased by 10%
next year. After that year, the population decreased by 8%. In the third year
the population is increased by 5% then at the end of third year, what will be
the population?

(1) 935550 (2) 78000

(3) 79695 (4) 77950

Ashok sold the necklace worth Rs. 15,00,000 at 20% profit. How much amount
Ashok will get?

(1) Rs. 1,12,000 (2) Rs. 18,00,000

(3) Rs. 17,00,000 (4) Rs. 16,00,000

SPACE FOR ROUGH WORK
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64.

65S.

66.

67.

68.

Tl IO &% 4.41 =EHl M@, W A SRl It fohdie
(1) 4.2 @@ ) 10.4 ¥
(3) 8.8 @t (4) 8.4 @

T gArad! SAehIr=A fur derl Been 28 @t R, @@ vt o, wmd
44 wH @@, 14 W ¥ T 8§ T 39 dIqA kAl kel @ uHEA
Tt 3 feRd amed v

(1) 2 gt () 2.5 @

(3) 3 @ (4) 1.5 o

17 off 9 i THYS SIGHTSAT Whl HU @rel 16 H@H THedd
T GET Ul et foRdl ST ?

(1) 30 @ (2) 17 @

(3) 8 @i (4) 34 o

TS e AREEd 75000 Bl of AeeEed geed awl 10% d aredl.
A N 8% A wHl well. fow=n Wl 5% 9 ded! @ e auie
e R kel Tl B ?

(1) 935550 2) 78000

3) 79695 @) 77950

MR 15,00,000 TTIE WE hedel 8X . 20 TR fohen @ e fohdt
whn  fiesd ?

1) T 1,12,000 2) T 18,00,000

3) T 17,00,000 4) T 16,00,000
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69.

70.

71.

72.

73.

The measures of exterior angles of a triangle are 115° and 117° respectively,
then which type of triangle is it?

(1) Acute angled triangle

(2) Obtuse angled triangle

(3) Right angled triangle

(4) Equilateral triangle

The length of a diagonal of a square is 11 cm then what is the length of its
side?

(1) 11 cm (2) 11y/2cm
(3) 5.5/2cm (4) 7J/2cm

3.9% of 1530 = ? (Choose two correct options.)
(1) 59.67 (2) 5967 x 1073
(3) 5967 x 1072 (4) 5.967

The measure of a minor arc is 160° then what is the measure of corresponding
major arc?

(1) 160° (2) 320°

(3) 200° (4) 80°

A shopkeeper gives 12% discount on the printed price of a mobile. He sold
a mobile for Rs. 26,400. What was its printed price?

(1) Rs. 30,000 (2) Rs. 32,000

(3) Rs. 26,412 (4) Rs. 3,000

SPACE FOR ROUGH WORK
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69. T Crpim=al gF aTEusMEl WM SAfRE 115° @ 117° ofgd @ Al B
HIUIT ThIET 3THA ¢
(1) agbH Brepro
(2) TosmesE Frepro
(3) HIeHH TR

(4) Tugst Fresior

70. THI ARATSAT HUE Al 11 T SEcA™E =AT A arell feRdi 7
(1) 11 @ @) 1123
(3) 5.5/2% 4) 7y/2%H

71. 1530 = 3.9% = Thdi? (GF T w9 FHaEn)
(1) 59.67 (2) 5967 x 1073
(3) 5967 x 1072 4) 5.967

72. TUHl AYHAE HMY 160° M@ W Al WA fommershdr wa fehdt ?
1) 160° 2) 320°
3) 200° 4) 80°

73. U% GHMGR HERAAl DA FRAdER 12% H¢ odl. W T AEsd 26,400
TqAE faehell T A Wiemser BT fhAd el 7
1) T 30,000 @) T 32,000
(3) T 26,412 @) T 3,000
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Instruction for Question No. 74 & 75
In the following joint bar graph, the number of boys and girls in divisions A,
B, C, D of 8™ standard are given. Observe the joint bar graph and answer
the following questions.

Ly 7 T A
. [Scale: OnY - Axis 1 cm = 10 boys/girls
-~ [ boys E= girls |
= 49 |
A2 ] Z
%20 g G B B
D g
0 9 P 0
ErEminnae s nn e

74.  What is the total number of students in all four divisions of 8 standard?
(1) 255 (2) 300
(3) 200 (4) 355

75.  What is the ratio of number of boys with number of girls in B division?
(1) 6:7 (2) 7:6
(3) 5:6 4) 6:5

SPACE FOR ROUGH WORK
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Ty 74 F 75 A& HgIAT -
3. 8 @t = A, B, C, DA Jheamdidd o 9 Gofl I qHET @ied
\‘lfl@@a“l@@wﬁaﬁaﬁaﬁ mﬁﬁﬁwwa@wﬁamlﬁw

ﬁY | Thnn
a7y [ | ! i
s Y - et 1 & = 10 g/qeht
| L [ 1aEedh |
40 i

=2 by geEE Z

Boot 1 H G A |
10 |
0 V5

L an L ABER Su L ok na -

74. A1 8 A =N GRE Tehedd Wed Tk garen (fommedt=h) wwm feRdi?

(1) 255 2) 300
(3) 200 4) 355

75. B kel o 9 Gell IRAT qeEEE YUK fehdl?
(1 67 (2) 7:6
(3) 56 4) 6:5
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